Tanks in scattered trees

This series of tests in clear midday boils down to the following -
A tank in scattered trees will be spotted just as easily as if he was in the open.

If shot at, a tank in scatt will be harder to hit if he's a fair way back inside the trees, but if he fires
back, his own accuracy will be reduced too, so the benefit cancels out.

If a tank wants to stay unseen he must get deep inside the trees, but he himself then won't be able to
see out..

TANKS IN SCATTERED TREES

The three in the left column are in scattered trees and the panzer suffers loss of
accuracy when firing-at the two who are deepest. ;
The right column are in the open and are easyto hit.
{all the tests are with extreme fog-of-war, clear summer midday)
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Tanks in trees suffer a loss of accuracy
when firing out, so-atank in trees gets no

benefit at allin afirefight.

cpengrannd

AMMO 67HE Z1AP 12C oK 7 76.2nn Lr4z

SCATTERED TREES DON'T PROVIDE CONCEALMENT

Even atthe sta.rt of the game the panzer is able to spot the T-34's in the trees
even though they aren’t moving or firing.
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The only way to guarantee you won't be seen is to position your tank at least 54 metres {more
in spring I autumn/ winter) inside the trees like this T-34 is doing (inset).
Use the ‘target’ line to get a distance readout.

o L S e Main pic - the panzer therefore can't see the
Sight BipcKed b ~ T-34 because there are too many trees
{54metres worth) in the way. _
It cuts both ways of course becausethe

T-34 can't now see the panzer..
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